
1 1
M12x1.75 Prevailing Torque Nut

9
M12x1.75 x 140mm HHB

65020 1/8" x 18" 7X19 SST. Wire Rope

1/2-13 x 3 13/16" Threaded Rod 

ETA-8 Mid-Rail Stop Bar 
12mm Spring Lock Washer

60003 ETA-8 Mid -Rail Stop Weldment 1

STOCK 
CODEREF. DESCRIPTION QUANTITY

25576 ETA-8 INSERTABLE MID-RAIL STOP   

63

13

1

M12x1.75 x 110mm HHB
ETA-8 Poly Bumper

1/2 SAE Flat Washer
1/8" Copper Stop Sleeve
1/8" Copper Oval Sleeve

2

ETA-8 RAIL

6

11

5

3

11

2524452
3 178020
4 178021

1530605
1518406

7 260004
8 151850

18099010
11 252510

160005

12

2

4

7

9

10

7

8

13 M12x1.75 x 40mm HHB 251785
12

© Copyright 2014, Unified Industries, Inc. All Rights Reserved.  www.unified-ind.com


